2005 A HUR 3L

f(x)=cx® +dx B & f(x)=2cx+d
X=0DEE g'(X)=a x>00&X g'(x)=b

0 , , 2 _ 0 B 2 _ 0 B B
L{f ) —g'()} dx-L{Zcx+(d a) dx—L{4c2x2+4c(d a)x + (d —a)? Jdx

0
:Ec2x3 +2c(d —a)x? + (d —a)zx} :%c2 —2c(d —a) + (d —a)?
-1

{@-d)+c}’ +%c2 ={a+(c-d)f +%c2

j:{f () — g'(x)}zdx:E{Zcx+ (d —b)}zo|x:jol{4c2x2 +4c(d —b)x + (d —b)? Jdx
1

:ECZXS +2c(d -b)x* +(d +a)2xJ :%c2 +2¢(d —b) + (d —b)?

0

={b-d)-c}? +%c2 ={b-(c+d)}? +%c2

L7=2MR->7T, a=—C+d,b=c+d & THiX LW, 2oL x
g(-)=-a f(-)=c-d=-a ..g(-1)="f(-1)

g =b f@=c+d=b ..g@)=F(Q)

LRk maniz. GEBR)



